दिल्ली विकास प्राधिकरण अधिशाषी अभियंता का कार्यालय स्पोर्ट्स मैनेजमेंट सेल

1 मंजिल, स्क्रैश और बैडमिंटन स्टेडियम,

सिरी फोर्ट रोड, नई दिल्ली -110049 ईमेल: ee01smc@gmail.com

No. F I(480)EE/SMC/DDA/2019-20/715

Date: 23 | 61 | 2020

To

M/s K.K. Rana Construction Co., UU- 114A, Pitampura, Delhi-110088. मैसर्स के.के. राणा कंस्ट्रक्शन कं., यू यू- 114 ए, पीतमपुरा, दिल्ली- 110088

Sub: M/o Various Sports Complexes / Golf Courses. (A/R & M/O works at HNSC for the year 2019-20). (Hort. Work) विभिन्न खेल परिसरों / गोल्फ कोर्स का रखरखाव (ए/आर एंड एम/ओ वर्ष 2019-20 में हरि नगर खेल परिसर के लिए काम)। (बागवानी काम)

SH: Ploughing, surface dressing, supplying and stacking good earth, cattle manure, Jamuna sand, selection no.1 grass turf and plants etc. at Hari Nagar Sports Complex. (Hort. Work) हरि नगर खेल परिसर में जुताई, सतह ड्रेसिंग, अच्छी मिट्टी की आपूर्ति और स्टैकिंग, पशु खाद, जमुना रेत, सेलेक्शन

नंबर १ घास टर्फ और पौधे आदि ।(बागवानी काम)

Ref:1.Performance guarantee amounting to Rs. 49,500/- vide FDR Account No. 3796239019 dated 16.01.2020 valid upto 16.01.2021 issued Central Bank of India, DDA Complex, Madhuban Chock, Sector- 14, Rohini, Delhi- 110085 submitted by you vide letter no. nil dated 20.01.2020.

निष्पादन गारंटी रुपये 49,500/- एफ डी आर खाता **3796239019** दिनांक 16.01.2020 से 16.01.2021 तक मान्य, जारीकर्ता सेंट्रल बैंक ऑफ इंडिया, डीडीए कॉम्प्लेक्स, मधुबन चौक, सेक्टर- 14, रोहिणी, दिल्ली- 110085 पत्र संख्या शून्य दिनांक 20.01.2020 आपके द्वारा प्रस्तुत की गई है।

2. This office letter of intent/acceptance of your tender issued vide no. F1(480)EE/SMC/DDA/2019-20/690 date 15.01.2020.

जारी किए गए अपने निविदा के इरादे / स्वीकृति का यह कार्यालय पत्र नं F1 (480) EE/ SMC/ DDA/ 2019-20 /690 दिनांक 15.01.2020.

Sir,

Your Percenatage rate tender for the above mentioned work has been accepted on behalf of the Delhi Development Authority as per the rates and conditions given below. नीचे दी गई प्रतिशत दरों और शर्तों के अनुसार, दिल्ली विकास प्राधिकरण की तरफ से उपर्युक्त कार्य के लिए आपकी प्रतिशत दर निविदा स्वीकार करली गई है।

1. Estt. Cost/ अनुमानित लागत

Rs. 11,93,462/-

(Rs. Eleven lakh ninety three thousand four hundred

sixty two only)

(रुपये ग्यारह लाख तिरानवे हजार चार सौ बासठ केवल)

2. Accepted Tendered Amount स्वीकृत निविदा/राशि

Rs. 9,80,309/-

(Rs. Nine lakh eighty thousand three hundred nine

only)

(रुपर्ये नौ लाख अस्सी हजार हजार तीन सौ नौ केवल)

3. Percentage/ प्रतिशत

17.86 % Below

Contd.2.

4. Time allowed/ समय की अनुमति

The performance guarantee 5% of the tendered amount as FDR Account No. 3796239019 dated 16.01.2020 amounting to Rs. 49,500/-(Rupees Forty nine thousand five hundred only) valid upto 16.01.2021 issued by Central Bank of India, DDA Complex, Madhuban Chock, Sector- 14, Rohini, Delhi- 110085 submitted by you, has been considered by the Competent Authority.

सक्षम प्राधिकारी द्वारा विचार किया गया है कि आपके द्वारा प्रस्तुत की गई निविदा राशि की 5% निष्पादन गारंटी के रूप में एफ डी आर खाता संख्या 3796239019 दिनांक 16.01.2020 रुपये 49,500/- (रुपये उनचास हजार पाँच सौ केवल) सेंट्रल बैंक ऑफ इंडिया, डीडीए कॉम्प्लेक्स, मधुबन चौक, सेक्टर- 14, रोहिणी, दिल्ली- 110085 जारी किए गए दिनांक

16.01.2021 तक वैध माना गया है।

You are requested to contact AD (Hort.)/SMC for taking possession of the site & start the work. You are also requested to attend this office along with non-judicial stamp paper worth Rs. 50/- to sign to complete the formal agreement within 7 days from the date of this letter.

आपसे अनुरोध है कि साइट पर कब्जा करने और काम शुरू करने के लिए एडी (बागवानी)/ एसएमसी से संपर्क करें। आप से यह भी अनुरोध है कि आपको इस कार्यालय में इस पत्र के जारी होने की तारीख से 7 दिनों के भीतर गैर-न्यायिक

50रु/- के स्टैंप पेपर के साथ-साथ औपचारिक समझौते पर हस्ताक्षर करने है।

Please note that the time allowed for carrying out the work will be reckoned from the 10th days after the date of issue of this letter to commence the work. Further if you fail to commence the work as specified above, the award letter will be withdrawn by DDA without prejudice to any other right or remedy available on law will be at liberty to forfeit the Earnest Money and performance guarantee absolutely.

कृपया ध्यान दें कि काम करने के लिए अनुमित के समय को 'काम शुरू करने के लिए इस पत्र के जारी होने की तारीख के 10 दिनों के बाद से गिना जाएगा। इसके अलावा यदि आप ऊपर निर्दिष्ट कार्य शुरू करने में असफल हो जाते हैं, तो डीडीए द्वारा किसी भी अन्य अधिकार या कानून पर उपलब्ध उपायों के लिए पूर्वाग्रह से वापस ले लिया जाएगा अग्रिम धन राशि

और प्रदर्शन गारंटी को पूरी तरह से ज़ब्त करने के लिए स्वतंत्र होगा।

Yours faithfully, आपका विश्वसनीय.

SMC/DDA

Executive Engineer, एसएमसी/डीडीए

Copy to (प्रतिलिपि): -

1. Commissioner (Sports)/DDA. आयुक्त (खेल) / डीडीए

2. Chief Engineer (Sports)DDA मुख्य अभियंता (खेल) डीडीए

3. Project Director (Sports)/DDA. परियोजना निदेशक (खेल) / डीडीए

4. Director (System) DDA . निदेशक (सिस्टम) डीडीए

5. Executive Engineer/QAC-I/DDA अधिशाषी अभियंता / क्यूएसी- ।/ डीडीए

- 6. Dy. CAO (Sports)/DDA उप. सीएओ (खेल) / डीडीए
- Secy./Coordination. सचिव।समन्वय
- Secy/ HNSC/DDA. सचिव / एचएनएससी/ डीडीए
- 9. Labour Commissioner, Rajpura Road, New Delhi. श्रम आयुक्त, राजपुरा रोड, नई दिल्ली
- 10. Dy. Commr. Sales Tax Office Govt. of NCT Room No. 211, Bikri Kar Bhawan, ITO, New Delhi.
- उप Commr बिक्री कर कार्यालय सरकार एनसीटी कमरा सं 211, बिक्री कर भवन, आई टी ओ, नई दिल्ली।
- 11. Trans Yamuna Contractor association (Regd) 11-12 Vir Sawakar Market (Budh Bazar) Gandhi Nagar, New Delhi-110031 (UPC). यमुना ठेकेदार संघ (रजिंग) 11-12 वीर सवाकर बाजार (बुध बाज़ार) गांधी नगर, नई दिल्ली -110031 (यूपीसी)।
- 12. Delhi Contractors Building association (Regd) No. 5503 Ch. Bhim Singh Road, Delhi (Ch. Prem Raj Bhawan New Chandrawal Road (UPC). दिल्ली के ठेकेदार बिल्डिंग एसोसिएशन (पंजीकरण) सं। 5503 चौठ भीम सिंह रोड, दिल्ली (चौठ प्रेम राज भवन नई चंद्रावल रोड (यूपीसी)
- 13. Delhi Contractors Welfare Association (Regd) 306, Masjid Moth, South Extn. Part-II, New Delhi-110049 (UPC). दिल्ली कन्स्ट्रक्टर्स वेलफेयर एसोसिएशन (रजिंड) 306, मस्जिद मॉथ, दक्षिण विस्तार भाग- II, नई दिल्ली -110049 (यपीसी)
- 14. Indian Contractor Association (Regd) G-80/20, Main Bazar Laxmi Nagar, Delhi-110092 (UPC). भारतीय ठेकेदार एसोसिएशन (रजिड) जी -80 / 20, मुख्य बाजार लक्ष्मी नगर, दिल्ली -110092 (यूपीसी)।
- Assistant Director (Hort.)/SMC/DDA for information alongwith copy of schedule of quantities. जानकारी के लिए सहायक निदेशक (बागवानी) /एसएमसी/डीडीए, मात्रा के अनुसूची की प्रति के साथ।
- Head Clerk SMC/ DDA. He is requested to issue the Master Register at once.
 हेड क्लर्क एसएमसी/डीडीए उन्हें एक बार में मास्टर रजिस्टर जारी करने का अनुरोध किया जाता है।
- 17. Accountant/SMC/ DDA. लेखाकार/एसएमसी / डीडीए
- 18. Copy of agreement. समझौते की प्रतिलिपि
- 19. E-mail to <u>ddatender@dda.org.in</u> ई-मेल को <u>ddatender@dda.org.in</u>
- 20. Guard file गार्ड फ़ाइल

अधिशाषी अभियंता

Executive Engineer, एसएमसी/डीडीए

SMC/DDA

Validate

Print

Help

Percentage BoQ

Tender Inviting Authority: Executive Engineer/Sports Management Cell

Name of Work: M/o Various Sports Complexes / Golf Courses. (A/R & M/O works at HNSC for the year 2019-20). (Hort. Work)

SH: Ploughing, surface dressing, supplying and stacking good earth, cattle manure, Jamuna sand, selection no.1 grass turf and plants etc. at Hari Nagar Sports Complex. (Hort. Work) Estimated Cost: Rs. 11,93,462/-

NIT No: 19/NIT/AE(P)/ EE/SMC/DDA/2019-20

Bidder M/S K.K. RANA CONST. CO.

Name:

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBE	TEXT#	NUMBER#	TEXT#	NUMBER	NUMBER#	TEXT#
SI. No.	Item Description	Quantity	Units	Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
				588		and the second second second
		1000		1917	/	
1	2	4	5	6	53	55
	Ploughing the existing ground to a depth of 15 cm to 25 cm and watering the same. All kinds of soil	8100.00	sqm	21.20	171720.00	INR One Lakh Seventy One Thousand Seven Hundred & Twenty Only
	Surface dressing of the ground including removing vegetation and inequalities not exceeding 15 cm deep and disposal of rubbish, lead up to 50 m and lift up to 1.5 m. All kinds of soil	8100.00	sam	20.95	169695.00	INR One Lakh Sixty Nine Thousand Six Hundred & Ninety Five Only
	Supplying and stacking of good earth at site including royalty and carriage upto 5 km lead complete (earth measured in stacks will be reduced by 20% for payment).	202.00	aum.	469.50	94839.00	INR Ninety Four Thousand Eight Hundred & Thirty Nine Only
10.00	Supplying and stacking of well decayed cattle manure at site including royalty and carriage upto 5 k.m.lead complete (Cattle manure measured in stacks will reduced by 8% for Payment).	101.00	cum	230.45	23275.4	INR Twenty Three Thousand Two Hundred & Seventy Five and Paise Forty Five Only
	Supplying and Stacking of jamuna sand at site by mechanical transport i/c loading and unloading & stacking complete with all lead and lift as per direction of office in charge.	101.00	cum	847.05	85552.09	INR Eighty Five Thousand Five Hundred & Fifty Two and Paise Five Only
	Providing & laying Selection no. 1 grass turf with earth 50mm to 60mm thickness of existing ground prepared with proper level and ramming with required tools wooden and then rolling the surface with light roller make the surface smoothen and light watering the same maintenance for 30 days or more till the grass establish properly, as per direction of officer in charge	800.00	per sqm	84.35	67480.00	INR Sixty Seven Thousand Four Hundred & Eighty Onl
7.00	Providing and fixing Neelgiri/Mexican grass turf with earthy 50mm to 60mm thickness of existing ground prepared with proper level and ramming with required tools wooden (Dhurmos) and then rolling the surface with light roller make the surface smoothen and light, watering with sprinkler and maintenance for 30 days or more till the grass	200.00	per sqm	211.25	42250.00	INR Forty Two Thousand Two Hundred & Fifty Only
8.00	Providing of natural rocks at site	10.00	per ton	7000.00	70000.00	INR Seventy Thousand Only
9.00	Bougainvillea named variety, Sobhra, Thima, Marry palmar, Cherry Blossom etc. well developed with fresh & healthy bushy plant in full bloom 75 to 90 cm ht. plant in 40 cm Ceme Pot	100.00	each	315.00	31500.00	INR Thirty One Thousand Five Hundred Only

0.00	Hamelia patens of height 90-105 cm. bushy in big size HDPE bag	300.00	each	100.00	30000.00	The good Only
	Ficus panda of height 60-90 cm, with 8-10 branches, and healthy foliage, bushy in big	000.00		- F-W-25 E		NR One Lakh Eighty Thousand Only
	Ficus panda of height 60-90 cm, with 6-10 branches, and housing to say	1000.00	each	180.00	180000.00	And the second s
			each	110.00	11000.001	NR Eleven Thousand Only
2.00	Tecomagaudichaudi of height 90-105 cm., bushy in big size HDPE bag	100.00	eacii	110.00		NR Eighteen Thousand Only
	Providing and stacking of Hibiscus variegated of height 60-75 cm. with 8-10 branches and healthy variegated foliage in cement pots of size 35 cm as per direction of the officer-in-	100.00	each	180.00	18000.00	in the dead Only
4.00	charge. Syngoniumvariegated,of height 30-45 cm. with 2-3 suckers healthy foliage in Earthen Pot/Plastic Pot of size 20 cm.	200.00	each	42.00	8400.00	INR Eight Thousand Four Hundred Only
5.00	Providing of Livistona palm having ht. 60 cm to 75 cm, well developed with 8 to 10 leaves, fresh & healthy foliage in 30 cm size of Earthen pot/Plastic pot. as per direction of the	150.00	each	210.00	31500.00	INR Thirty One Thousand Five Hundred Only
	officer-in-charge.	150.00	CUOIT			INR Seventy Five Thousand Only
16.00	Plumeria alba dwarf height 90-105 cm. with 3-4 branches and thick stem in big size HDPE	100.00	each	750.00	75000.00	
17.01	bag Herbal Garden Plants at site well developed with fresh & healthy as per direction of office-					INR Two Thousand Five Hundred Only
	in-charge. a) Beladona	50.00	each	50.00	2500.00	INR Two Thousand Five Hundred Only
17.00		1		50.00	2500.00	
17.02	b) Cincona	50.00	each	50.00	2300.00	INR Two Thousand Five Hundred Only
17.03	c) Sanai	50.00	each	50.00	2500.00	INR Two Thousand Five Hundred Only
17.04	d) Kewra	50.00	each	50.00	2500.00	
17.05	e) Aloevera	50.00	each	50.00	2500.00	
17.06	f) Ajwain	50.00	each	50.00	2500.00	
17.07	g) Black Tulsi	50.00	each	50.00	2500.00	
17.07	g) black tuisi	50.00	each	50.00	2500.00	INR Two Thousand Five Hundred Only
17.08	h) Lemon grass	50.00	Cacii			INR Two Thousand Seven Hundred & Fifty Only
18.00	size of Earthen Pot / Plastic Pot.	50.00	each	55.00	2750.00	INR Eleven Thousand Only
19.00	the standard of the standard o	20.00	each	550.00	11000.00	
20.00	12 to 12 treat hoolthy and attractive colourful	100.00	each	180.00	18000.0	
		100.00	Caoil			INR Eleven Thousand Five Hundred Only
21.00	healthy leaves in 25 cm size of Earthen pot / Plastic pot	100.00	each	115.00	11500.0	INR Eleven Thousand Only
22.00	Furcaira variegated well developed with fresh & healthy foliage 8 to 10 leaves in 30 cm Earthen Pot	50.00	each	220.00	11000.0	0
						INR Nine Thousand Only
23.00	Spathiphyllum (peace Lilly), having 15 cm to 25 cm ht. blooming stag with fresh & healthy foliage well developed in 15 cm of Earthen pot/plastic pot	100.00	each	90.00	9000.0	INR Zero Only
24.00	Add 0% for cost index	403855.10	each	0.00	0.0	0 INR Eleven Lakh Ninety Three Thousand Four Hund
2	100 miles (100 miles (1193461.5	& Sixty One and Paise Fifty Only

.

	Less (-) 17.86% 980309.28 INR Nine Lakh Eighty Thousand Three Hundred & Nine and Paise Twenty E	ight Only
Quoted Rate in Figures	INR Nine Lakh Eighty Thousand Three Hundred & Hundred	
Quoted Rate in Words		1 -3

अधिशासी अभियन्ता खेल प्रबंधन प्रकोण्ड कोर्ट नई दिल्ली-110049